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(i) General Awareness

(i) lkekU; tkudkjh

1. From time to time, which among the following
organization publishes progress of the World
Women report?

fuEu esa ls dkSulh laLFkk le; le; ij ^^fo'o dh
efgyk dh izxfr** dh fjiksVZ izdkf'kr djrh gS\
(a) United Nations/la;qDr jk"Vª
(b) World Bank/fo'o cSad
(c) UNICEF
(d) WTO

2. Who has been awarded with Outstanding
Service Award for his service in Singapore?

fdls flaxkiqj esa mldh lsok ds fy, fof'k"V lsok
iqjLdkj fn;k x;k gS\
(a) Anil Singhvi/vfuy fla?koh
(b) Gopinath Pillai/xksihukFk fiYybZ
(c) Ranjit Chaudhari/j.kthr pkS/jh
(d) Shiva Nagar/f'ko uxj

3. Who was honoured with Raj Kapoor Life Time
Constribution award by Maharashtra government?

egkjk"Vª ljdkj }kjk fdls jkt diwj ykbiQ Vkbe
;ksxnku iqjLdkj iznku fd;k x;k\
(a) Vidya Balan/fo|k ckyu
(b) Katrina Kaif/dVjhuk dSiQ
(c) Shashikala/'kf'kdyk
(d) Sonali Kulkarni/lksukyh dqyd.khZ

4. VARUNA is a naval combat exercise between
india and which country?

VARUNA ;g Hkkjr vkSj fdl ns'k dh ukSlsuk yM+kbZ
dok;n gS\
(a) USA/vesfjdk (b) France/ÚkUl
(c) China/phu (d) UK/baxySaM

5. Who was awarded with the prestigious Master
Deenanath Mangeshkar Award 2015?

ekLVj nhukukFk eaxs'kdj iqjLdkj 2015 ;g xkSjokRed
iqjLdkj fdls iznku fd;k x;k\
(a) Anil Kapoor/vfuy diwj
(b) Sunil Shetty/lquhy 'ksV~Vh
(c) Amitabh Bachchan/vferkHk cPPku

DSSSB COMMON PAPER 2021 (SET-02)
(d) Amir Khan/vkfej [kku

6. The headquater of the Coffee Board of India is

Hkkjr ds dkWiQh cksMZ dk eq[;ky; ;gk¡ fLFkr gS
(a) Mysore/eSlwj (b) Kolkata/dksydkrk
(c) Bengaluru/csaxyq# (d) Cochin/dksfpu

7. Which state has maximum certified area under
organic farming?

fdl jkT; esa tSo Ñf"k ds vUrxZr vf/dre izekf.kr
{ks=k gS\
(a) Rajasthan/jktLFkku
(b) Madhya Pradesh/eè;izns'k
(c) Maharashtra/egkjk"Vª
(d) Sikkim/flfDde

8. India and which country finalised a draft pact
on coastal shipping, recently?

gkygh esa Hkkjr vkSj fdl ns'k us  rVh; ukS&ifjogu ij
elkSnk laf/ dks vafre :i fn;k\
(a) Shri Lanka/Jhyadk
(b) Bangladesh/CkkaXykns'k
(c) Pakistan/ikfdLrku
(d) Bhutan/HkwVku

9. Which movie has won maximum awards at the
international indian  Film Awards?

varjkZ"Vªh; Hkkjrh; pyufp=k iqjLdkjksa esa fdl fiQYe
dks vf/dre iqjLdkj  feys\
(a) Queen/Dohu
(b) Ek Villain/,d foyu
(c) Haider/gSnj
(d) PK/ihds

10. Which state has been awarded best e-Panchayat
state in 2015 on National Panchayati Raj Diwas?

jk"Vªh; iapk;rh jkt fnol ij fdl jkT; dks mRd`"V
bZ&iapk;r jkT; 2015 dk iqjLdkj feyk gS\
(a) Karnataka/dukZVd (b) Kerala/dsjy
(c) Assam/vle (d) Rajasthan/jktLFkku

11. To which Japanese automobile company, India
has become the top global market both in terms
of volumes as well as revenues?

fdl tkikuh eksVj dkj dEiuh ds fy, ek=kk vkSj
vkenuh dh n`f"V ls Hkkjr ;g fo'o dh pksVh dh
e.Mh cuk gS\
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(a) Yamaha/;ekgk (b) Honda/gksaMk
(c) Suzuki/lqtqdh (d) Toyota/Vks;ksVk

12. Recently, india has delivered three Cheetal
military choppers to which neighbouring
country?

gkygh esa Hkkjr us rhu phry feyhVjh gsyhdkWIVj fdl
iMkslh jk"Vª dks jokuk fd;s\
(a) Pakistan/ikfdLrku
(b) Bangladesh/ckaXykns'k
(c) Afghanistan/viQxkfuLrku
(d) Sri Lanka/Jhyadk

13. Which among the following industries generates
invisible exports?

fuEu esa ls dkSulk m|ksx xqIr fu;kZr fufeZr djrk gS\
(a) Handicraft/gLrf'kYi
(b) Jewellery/tokgj
(c) Travel and Tourism/;k=kk vkSj i;ZVu
(d) Fishing/eNqokgh

14. Which among of the following missiles is called
the  Indian Patriot?

fuEu esa ls fdl iz{ksi.kkL=k dks bafM;u isVªh;V dgk
tkrk gS\
(a) Nag/ukx (b) Sagarika/lkxfjdk
(c) Trishul/f=k'kqy (d) Akash/vkdk'k

15. Which country in SAARC has the highest GDP
(PPP) per capita as per World Economic Outlook
Database, April 2015?

fo'o vkfFkZd vkÅVyqd MsVkcsl] vizSy] 2015  ds
vuqlkj lkdZ (SAARC) ds fdl ns'k dh izfrO;fDr
thMhih (ihihih)  vR;f/d gS\
(a) Sri Lanka/Jhyadk (b) Maldives/ekynho
(c) India/Hkkjr (d) Bhutan/HkwVku

16. Which of the following cities is known as
Electronic City of India?

fuEu esa ls fdl 'kgj dks Hkkjr dk bysDVªkWfud 'kgj
dgrs gSa\
(a) Mumbai/eqEcbZ
(b) Bengaluru/csaxyq#
(c) Hyderabad/gSnjkckn
(d) Gurgaon/xqjxkao

17. Ms Bachendri Pal had undertaken a unique
expedition for focussing attention on which of
the following themes?

fuEu esa ls fdl fo"k; ij è;ku vkdf"kZr djus ds fy,
dq- cpsUnzh iky us vuks[kk vfHk;ku pyk;k\

(a) National Integration/jk"Vªh; ,dhHkou

(b) The Girl Child/dU;k f'k'kq

(c) Spirit of Adventure/lkgl dk tks'k

(d) One Nation One Family/,d ns'k ,d ifjokj
18. Where is the National Remote Sensing Agency

situated?

jk"Vªh; nwjorhZ laosnuk laLFkk dgk¡ fLFkr gS\

(a) Bengaluru/caxyq# (b) Shadnagar/'kknuxj

(c) Chennai/psUubZ (d) Mumbai/eqEcbZ
19. The first underground railway in India was

opened in 1984 in

Hkkjr dh igyh lqjax&jsy 1984 esa ;gk¡ LFkkfir gqbZ

(a) Mumbai/eqEcbZ (b) Chennai/psUUkbZ

(c) Kolkata/dksydkrk (d) Bengaluru/casxyq#
20. Ashok Pandit is known for his outstanding

performance in which of the following?

fuEu esa ls fdlesa v'kksd iafMr csgrjhu izn'kZu ds
fy, ekus tkrs gSa\

(a) Wrestling/dq'rh (b) Shooting/'kwfVax

(c) Kabaddi/dcM~Mh (d) Swimming/rSjkdh

(ii) General Intelligence and Reasoning Ability

(ii) lkekU; cqf¼eÙkk rFkk rkfdZr ;ksX;rk

Find the odd number/letters from the given alternatives.

fn;s x;s fodYiksa esa ls fo"ke la[;k@v{kjksa dk irk yxkb,A

21. (a) Swimming/rSjuk

(b) Sailing/ty;k=kk

(c) Diving/Mqcdh yxkuk

(d) Driving/pkyu

22. (a) Discernment/foosd

(b) Perception/cks/

(c) Penetration/Hksnu

(d) Insinuation/ijks{k ladsr
23. (a) 5720 (b) 6710

(c) 2640 (d) 4270
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24. (a) 626 (b) 841

(c) 962 (d) 1090

25. If banana is apple, apple is grapes, grapes is
mango, mango is nuts, nuts is guava, which of
the following is a yellow fruit?

;fn dsyk lsc gS] lsc vaxwj gS] vaxwj vke gS] vke
fxjhnkj iQy gS] fxjhnkj iQy ve#n gS] rks fuEu esa ls
dkSulk iQy ihyk gS\

(a) Mango/vke (b) Guava/ve:n
(c) Apple/lsc (d) Nuts/fxjhnkj iQy

26. If cushion is called pillow, pillow is called mat,
mat is called badsheet and bedsheet is called
cover, which will be spread on the floor?

;fn xís dks rfd;k dgrs gSa] rfd;s dks pVkbZ dgrs gSa]
pVkbZ dks pknj dgrs gSa vkSj pknj dks vkPNknu dgrs
gSa] rks iQ'kZ ij D;k fcNk;k tk;sxk\
(a) Cover/vkPNknu (b) Bedsheet/pknj
(c) Mat/pVkbZ (d) Pillow/rfd;k

27. If wall is called window, window is called door,
door is called floor, floor is called roof and roof
is called ventilator, what will a person stand on?

;fn nhokj dks f[kM+dh dgk tkrk gS] f[kM+dh dks
njoktk dgk tkrk gS] njokts dks iQ'kZ] iQ'kZ dks Nr
vkSj Nr dks okrk;uh dgk tkrk gS] rks ,d O;fÙkQ fdl
ij [kM+k jgsxk\
(a) Window/f[kM+dh (b) Wall/nhokj
(c) Floor/iQ'kZ (d) Root/Nr

28. If eraser is called box,  box is called pencil, pencil
is called sharpener and sharpner is called bag,
what will a child write with?

;fn jcj dks cDlk dgrs gSsa] cDls dks isafly] isafly
dks 'kkiZuj vkSj 'kkiZuj dks cSx dgrs gSa] rks cPpk
fdlls fy[ksxk\
(a) Eraser/jcj (b) Box/cDlk
(c) Pencil/isafly (d) Sharpener/'kkiZuj

29. 4, 7, 12, 19, 28, ?
(a) 48 (b) 36
(c) 30 (d) 39

30. 6, 11, 21, 36, 56, ?
(a) 91 (b) 51
(c) 81 (d) 42

31. 10, 100, 200, 310, ?
(a) 430 (b) 420
(c) 410 (d) 400

32. 8, 28, 116, 584, ?

(a) 1752 (b) 3504

(c) 3508 (d) 3502

33. Find the odd one out

fo"ke dks igpkfu,

(a) Sheep : bleat/HksM % fefeokuk
(b) Horse : neigh/?kksMk % fgufgukuk

(c) Ass : grunt/x/k % ?kqj?kqjkuk

(d) Owl : hoot/mYyw % ?kq?kqvkuk
34. Find the odd one out

fo"ke dk irk dhft,
(a) Door : Bang/njoktk % tksj ls cUn djuk

(b) Plano : Play/fi;kuks % [ksyuk
(c) Drum : Beat/<ksy % ihVuk

(d) Rain Platter : Earthquakes/ckfj'k % iViVkuk
35. Find the odd one out

fo"ke dk irk dhft,

(a) Ammeter : Current/,feVj % fo|qr izokg
(b) Hygrometer : Pressure/gkbxzksehVj % nkc

(c) Odometer : Speed/vksMksehVj % xfr

(d) Saismograph : Earthquakes/flLeksxzkiQ % HkwdEi
36. Find the odd one out

fo"ke dk irk yxkb,

(a) Aphid : Paper/ekgw¡ % dkxt

(b) Moth : Wool/diM+s dk dhM+k % owy
(c) Termite : Wood/nhed % ydM+h

(d) Locust : Plant/fVM~Mh % ikS/k
37. While travelling in a train, you found that some

college students pulling the alarm chain simply
to get down at their desired point, you would
(Select the most appropriate alternative as the
answer)

Vªsu esa liQj djrs le; vki ns[krs gSa fd fo|kfFkZ;ksa dk
,d lewg dsoy vius ,fPNd LFkku ij mrjus ds
fym, psrkouh dh psu [khap jgk gS] vki og djsaxs
(vR;ar ;ksX; fodYi vius mÙkj ds :i esa pqfu,)
(a) With the help of other passenger check

them from do/ckdh eqlkfiQjksa dh enn ls mUgsa
,slk djus ls jksduk

(b) Let them pull the chain but check them from
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detrain/mUgsa psu [khapus nsuk ysfdu mUgsa mrjus ls
jksduk

(c) inform the guard of the train as soon as it

stops/xkMh #drs gh xkMZ dks bÙkyk nsuk
(d) Keeps quit and do nothing/dqN u djrs gq,

'kkar jguk
38. While going on a scooter, you find someone has

been hurt by your vehicle,  you would (Select
the most appropriate alternative as the answer)

vki LdwVj ij tkrs le; vkids okguu ls fdlh dks
pksV igq¡prh gS] vki ;g dgsaxs (vR;ar ;ksX; fodYi
dks vius mÙkj ds :i esa pqfu,)
(a) Try to run away from the spot immediately

rqjUr ?kVuk LFky ls Hkkx fudyuk
(b) Stop you vehicle and say 'I m sorry'

viuk okgu jksddj mlls dguk ^{kek pkgrk gw¡*
(c) Take him to doctor and arrange for his

medical aid/mls MkWDVj ds ikl ys tkdj mldh
fpfdRlk esa enn djuk

(d) Pay compensation for the injury and in this

way/mldh pksV ds fy, mls gtkZuk nsuk
39. Your maid has invited you to her daughter's

wedding. You would (Select the most
appropriate alternative as the answer)

vkidh ukSdjkuh us vkidks mldh csVh dh 'kknh esa
vkeaf=kr fd;k gS] vki ;g dgsaxs (vR;ar ;ksX; fodYi
vkidk mÙkj gksxk)
(a) Completely ignore her/iw.kZr% mldh vuns[kh

djsaxs
(b) Attend the wedding/'kknh esa 'kkfey gksaxs
(c) Buy a gift for her daughter and help in

wedding/mldh csVh ds fy, rksgiQk [kjhnsaxs vkSj
'kknh esa enn djsaxs

(d) Congratulate her and make up some excuse

for not be there/mls c/kbZ nsaxs vkSj u vkus dk
dqN cgkuk cuk,saxs

40. You are alone in the house and your sister-in-
law is suddenly experiencing labour pains. You
would (Select the most appropriate alternative
as the answer)

vki ?kj is vdssys gSa] vkidh lkyh dks izlo&ihMk
vkus yxrh gS] vki ;g djsaxs (vR;ar ;ksX; fodYi
vkidk mÙkj gksxk)
(a) Get upset and do not know what is the right

step/D;k lgh dne ys bl ij vki fopfyr gks

tk,axs
(b) Go out of the house to call your family doctor

ckgj tkdj iQSfeyh MkWDVj dks cqyk,saxs
(c) Take her to the nearest hospital/mls utnhdh

vLirky ys tk,¡xs
(d) Call an ambulance for emergency/,EC;wyal dks

rRdky cqyk,¡xs

(iii) Arithmetical and Numerical Ability

(iii) vadxf.krh; ,oa la[;kRed ;ksX;rk

41. 3 + 33 + 333  3.33 = ?
(a) 362.3 (b) 372.33
(c) 702.33 (d) 702

42. The least perfect square, which is divisible by
each of 21, 36 and 66 is

fuEu esa dkSulk U;wure lEiw.kZ oxZ gS tks 21] 36 vkSj
66 ls foHkkftr gksrk gS
(a) 213444 (b) 214344
(c) 214434 (d) 231444

43. A lent Rs. 5,000 to B for 2 years and Rs 3,000 to
C for 4 years on simple interest at the same rate
of interest and received Rs 2,200 in all from both
of them as interest. The rate of interest per
annum is

A us nks lky ds fy, vkSj 4 lky ds fy, ,d leku
ljy C;kt ij B vkSj C dks Øe'k% #- 5000 vkSj #-
3000 m/kj fn;sA mls nks lky ckn nksuksa ls dqy #-
2200 C;kt ds :i esa izkIr gq,A ,sls esa lkykuk C;kt
nj FkkA
(a) 9% (b) 10%
(c) 11% (d) 12%

44. Find the simple interest on Rs 7,000 at 50/3%
for 9 months.

#- 7000 ij 9 eghuksa ds fy, 50@3% nj ls ljy
C;kt irk dhft,A
(a) `1,075 (b) `975
(c) `875 (d) `775

45. Find the simple interest on the Rs. 2,000 at 25/
4% per annum for the period from 4th Feb. 2005
to 18th April 2005

4 iQjojh 2005 ls 18 vizSy 2005 vof/ ds fy, #-
2000 ij 25@4% nj ls ljy C;kt irk dhft,A
(a) `25 (b) `30
(c) `35 (d) `40
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46. Sachin borrows Rs. 5000 for 2 years at 4% p.a.
simple interest. he immediately lends money to
Rahul at 25/4% p.a. for 2 years. Find the gain of
oen year by Sachin.

lfpu 4%  izfr o"kZ ljy C;kt nj ls 2 o"kksZa ds fy,
#- 5000 m/kj ysrk gS vkSj rqjUr og jkf'k 25@4% izfr
o"kZ nj ls 2 o"kksaZ ds fy, jkgqy dks m/kj nsrk gSA ,d
lky esa lfpu dk equkiQk gksxkA
(a) 110.50 (b) 111.50
(c) 112.50 (d) 113.50

47. Eighteen years ago, a father was three times as
old as his son, Now the father is only twice as
old as his on. Then the sum of the present ages
of the son and the father is

vBkjg lky igys firk dh mej mlds csVs dh mej ls
frxquh FkhA vkt firk dh mej mlds csVs ls dsoy
nqxquh gSA ,sls esa firk vkSj csVs dh orZeku mej dk tksM
gS
(a) 102 (b) 76
(c) 105 (d) 108

48. A person's present age is two-fifth of the age of
his mother. After 8 years, he will be one-half of
the age of his mother. How old is the mother at
present?

,d O;fDr dh orZeku mej mlds ek¡ dh mez dh 
2

5

gSA vkB lky ckn og mlds ek¡ dh mez vk/s ds cjkcj
gksxkA
(a) 44 years/44 lky (b) 42 years/42 lky
(c) 40 years/40 lky (d) 55 years/55 lky

49. Tanya's grandfather was 8 times older to her 16
years ago. he would be 3 time of her age 8 years
from now. Eight years ago, what was the ratio
of Tanya's age to that of her grandfather?

16 lky igys rkU;k ds nknkth mlds mez ds vkB xquk
FksA vkt ls vkB lky ckn mudh mez rkU;k dh mez ls
frxquh gksxhA vkB lky igys rkU;k dh mez vkSj mlds
nknkth dh mez dk vuqikr  D;k Fkk\
(a) 16 : 11
(b) 11 : 53
(c) 17 : 30

(d) None of these/buesa ls dksbZ ugha
50. Four years ago, the father's age was three times

the age of his son. The total of the ages of the
father and the son after four years, will be 64

years. What is the father's age at present?

pkj lky igys firk dh mez mlds csVs dh mez ls
frxquh FkhA pkj lky ds ckn firk vkSj csVs dh mez dk
tksM+ 64 lky gksxkA firk  dh orZeku mez fdruh gS\
(a) 35 years/35 lky
(b) 36 years/36 lky
(c) 46 years/46 lky
(d) none of these/buesa ls dksbZ ugha

51. How many 3-digit numbers can be formed from
the digits 2, 3, 5, 6, 76 and 9, which are divisible
by 5 and none of the digits is repeated?

2] 3] 5] 6] 7 vkSj 9 vadksa ls fdruh 3 vadh; la[;k,¡
cukbZ tk ldrh gS tks 5 ls foHkkftr dh tkrh gS vkSj
dksbZ Hkh vad nksgjk;k ugha tkrk gS\
(a) 5 (b) 10

(c) 15 (d) 20

52. In a group of 6 boys and 4 girls, four children
are to be selecte (d) In how many different ways
can they be selected such that at least one boy
should be there?

6 yM+ds vkSj 4 yM+fd;kas ds lewg ls pkj cPpksa dks
pquuk gSA mUgsa fdruh rjhds ls pquk tk ldrk gS tcfd
gj pquko esa de ls de ,d yM+dk gksuk pkfg,\
(a) 159 (b) 194

(c) 205 (d) 209

53. In how many ways a committee, consisting of 5
men and 6 women can be formed from 8 men
and 10 women?

8 iq#"k vkSj 10 efgykvksa esa ls ,slh fdruh rjhds ls
lfefr;k¡ ?kfVr dh tk ldrh gSa ftlesa 5 iq#"k vkSj 6
efgyk,¡ 'kkfey gksrh gSa\
(a) 266 (b) 5040

(c) 11760 (d) 86400

54. A box contains 2 white balls, 3 black balls and 4
red balls. In how many ways can 3 balls be drawn
from the box, if at least one black ball is to be
included in the draw?

,d cDls esa 2 liQsn xsan] 3 dkys xsan vkSj 4 yky jax
ds xsan gSaA ,sls fdrus rjhds ls 3 xsan pqus tk ldrs gSa]
ftlesa de ls de ,d dkys jax dk xsan 'kkfey gksrk gS\
(a) 32 (b) 48
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(c) 64 (d) 96

55. One side of rectangular field is 15 meters and
one of its diagonals is 17 meters. Then find the
area of the field.

,d vk;rkdkj [ksr dh ,d ckgq 15 ehVj yEch gS
vkSj mldk fod.kZ 17 ehVj yEck gSA ml [ksr dk
{ks=kiQy bruk gksxk

(a) 120 m2/120 eh2 (b) 130 m2/130 eh2

(c) 140 m2/140 eh2 (d) 150 m2/150 eh2

56. The ratio between the length and the breadth
of a rectangular park is 3 : 2. If a man cycling
along the boundary of the park at the speed of
12 km/hr completes one round in 8 minutes,
then the area of the park (in sq. m) is

,d vk;rkdkj cxhps dh yEckbZ vkSj pkSMkbZ dk vuqikr
3 % 2 gSA ;fn ,d O;fDr ml cxhps dh ifjlhek ls
lVdj 12 fdeh-@?kaVk xfr ls lkbfdfyax djrs gq, ,d
iQsjk 8 feuV esa iw.kZ djrk gS] rks ml cxhps dk {ks=kiQy
(oxZ ehVj esa) gS
(a) 152600 m2 (b) 153500 m2

(c) 153600 m2 (d) 153800 m2

57. The percentage increase in the area of a
rectangle, if each of its sides is increased by 20% is

;fn ,d vk;r dh pkjksa Hkqtk,¡ 20% ls c<+kbZ tkrh gS]
rks mlds {ks=kiQy esa brus izfr'kr dk btkiQk gksxk\
(a) 32% (b) 34%

(c) 42% (d) 44%

58. The area of a rectangle is 460 square metres. If
the length is 15% more than the breadth, what
is the breadth of the rectangular field?

,d vk;r dk {ks=kiQy 460 oxZehVj gSA ;fn yEckbZ
;g pkSM+kbZ ls 15% vf/d gS] rks ml vk;rkdkj [ksr
dh pkSM+kbZ fdruh gS\

(a) 18 meters/18 ehVj (b) 20 meters/20 ehVj

(c) 22 meters/22 ehVj (d) 25 meters/25 ehVj
59. Two dice are thrown simultaneously. The

probability of getting the sum 2 or 8 or 12 is

nks ik¡ls ,d lkFk iQsads tkrs gSaA 2 ;k 8 ;k 12 dk tksM+
vkus dh laHkkO;rk gS
(a) 5/18 (b) 7/18

(c) 7/36 (d) 5/36

60. If two balanced dice are tossed once, the
probability of the event, that the sum of the
integers coming on the upper sides of the two
dice is 9,  is

nks lUrqfyr ik¡ls ,d ckj mNkys tkrs gSaA ;g laHkkO;rk
gS fd ik¡lksa ds Åijh fgLls esa vkus okys iw.kkZadksa dk
tksM+ 9 gksrk gSA
(a) 7/18 (b) 1/9

(c) 5/36 (d) 1/6

(iv) Test of Language : Hindi

(iv) Hkk"kk ijh{k.k % fgUnh

mDr i|ka'k ds vk/kj ij fuEufyf[kr iz'uksa ds mÙkj nhft,A
LoIu vkrk LoxZ dk] nx̀ dksjdksa esa nhfIr vkrhA
ia[k yx tkrs ixksa dks] yydrh mUeqDr NkrhA
jkLrs dk ,d dkaVk] ik¡o dk fny phj nsrkA
jDr dh nks cw¡n fxjrha] ,d nqfu;k Mwc tkrhA
vk¡[k esa gks LoxZ ysfdu] ik¡o i`Foh ij fVds gksaA
61. i|kax dk mfpr 'kh"kZd gS

(a) LoxZ dk LoIu (b) ik¡o dk fny
(c) iF̀oh ij nko (d) iwoZ pyus ds cVksgh

62. ^ik¡o i`Foh ij fVds gksa* ls vk'k; gS
(a) ;FkkFkZ ds /jkry ij jgsa
(b) iF̀oh dh mis{kk u djsa
(c) n`<+&ladYi ls dk;Z djsa
(d) mi;qZDr esa ls dksbZ ugha

63. i| esa fufgr lUns'k gS
(a) dYiuk dh mM+ku Hkjsa
(b) ;FkkFkZ dks vk/kj cuk;sa
(c) dYiuk vkSj okLrfodrk esa lUrqyu dh vko';drk gS
(d) LoxZ o iF̀oh esa nwjh u gks

64. ^^jkLrs dk ,d dk¡Vk** & bl iafÙkQ esa dk¡Vk izrhd gS
(a) xjhch dk (b) ck/k dk
(c) nq%[k dk (d) ekxZ ds lkSUn;Z dk

65. ^LoIu vkrk LoxZ dk* & bl iafÙkQ dk fufgrkFkZ gS
(a) dYiukvksa dks l¡tksuk
(b) fnokLoIu ns[kuk
(c) LoxZ dh bPNk j[kuk
(d) egku~  dYiuk

66. ^Bkdqj lqgkrh dguk* & bl eqgkojs dk vFkZ crkb,
(a) [kq'kken djuk (b) cjkcjh djuk
(c) vPNh ckrsa djuk (d) cqjkbZ djuk
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67. vej dk foykse 'kCn gS
(a) eR;Z (b) eR̀;q
(c) vtj (d) mÙky

68. vkgwr dk foykse 'kCn gS
(a) ckgwr (b) vukgwr
(c) o`gwr (d) mijksDr esa ls dksbZ ugha

69. mxz dk foykse 'kCn gS
(a) vfu"V (b) lkSE;
(c) vour (d) xqLlSy

70. dksi dk foykse 'kCn gS

(a) Øks/ (b) {kek

(c) Ñik (d) fu"Bqj

71. O;kdj.k 'kq¼ okD; pqudj fyf[k,

(a) rqe D;k djrk gS\ (b) rqe D;k djrs gks\

(c) rqe D;k djrs gSa (d) rqe D;k djrs gw¡

72. rgl ugl gks tkuk bldk lgh vFkZ gS

(a) c<+ tkuk (b) ;Fkkor jguk

(c) de gksuk (d) u"V gksuk

73. _____ iQy [kkrk gw¡A ;gk¡ dk lgh loZuke 'kCn gS

(a) vki (b) rqe

(c) og (d) eaS

74. ^mrj x;h yksbZ D;k djsxk dksbZ* & bl eqgkojs dk vFkZ
crkb,

(a) csbTtrh gksuk (b) bTtr tkus ij Mj dSlk

(c) bTtr c<+uk (d) csbTtrh ls Mj yxuk

75. [ksyus okys dks dgrs gSa

(a) [ksykMh (b) f[kykMh

(c) yMkdw (d) fdykMh

76. ^lEeku* bldk lekukFkZd 'kCn gS

(a) leku (b) lkeku

(c) csbTtr (d) bTtr

77. ;g ____ cgu gSA ;gk¡ dk lgh fo'ks"k.k gS

(a) esjk (b) esjs

(c) esjh (d) gekjk

78. mifLFkr 'kCn dk fo#¼ in gS

(a) gktj (b) xsjgktjh

(c) vuqifLFkr (d) vuqifLFkr

79. Hkko$vFkZ = HkkokFkZ] blesa dkSulh laf/ gS\

(a) nh?kZ Loj laf/ (b) xq.k laf/

(c) ;.k~ Loj laf/ (d) v;kfn Loj laf/

80. ,d $ ,d = ,dSd] blesa dkSulh laf/ gS\

(a) nh?kZ Loj laf/ (b) o`f¼ laf/

(c) ;.k~ Loj laf/ (d) v;kfn Loj laf/

(v) Test of English Language : English

(v) Hkk"kk ijh{k.k % vaxzsth

81-85:

On the surface, the conquest of the Aztec empire by
Herman Cortes is one of the most amazing military
accomplishments in history. With a small fighting force
numbering in the hundreds, Cortes led the Spanish
explorers into victory against an Aztec population that
many believe topped 21 million. In light of such a
seemingly impossible victory, the obvious question is:
how did a small group of foreign fighters manage to
topple one of the world's strongest, wealthiest and
most successful military empires?

Several factors led to Cortes' success. First, the Spanish
exploited animostity toward the Aztecs among rival
groups and convinced thousands off locals to fight. In
one account of a battle, it is recorded that at least
200,000 natives fought with Cortes. next the Spanish
possessed superior military equipment in  the form
of European cannons, guns, and crossbows, leading
to effective and efficient disposal of Aztec defenses,
For example, Spanish cannons quickly defeated large
Aztec walls that had protected the empire against big
and less technically advanced armies.

Despite the Spanish advantages, the Aztecs probably
could have succeeded in defending their capital city
of Tenochtitian had they leveraged their incredible
population base to increase their army's size and
ensured that no rogue cities would ally with Cortes.
In order to accomplish this later goal, Aztec leader
Motecuhzorna needed to send envoys to
neighbouring cities telling their inhabitants about the
horrors of Spanish conquest and the inevitability off
Spanish betrayal.

In additional, the Aztecs should have exploited the
fact that the battle was taking place on their territory.
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No reason existed for the Aztecs to consent to a
conventional battle which heavily favoured the
Spanish, Motecuhzorna's forces should have thought
outside the box and allowed Cortes into the city, only
to subsequently use hundreds off thousands off
fighters to prevent escape and proceed in surprise
"door-to-door" combat. With this type  of battle the
Aztecs would have largely thwarted Spanish
technological supremacy. However, in the end, the
superior weaponry of the Spanish, the pent-up
resentment of Aztec rivals, the failure of Aztec
diplomacy and the lack off an unconventional Aztec
war plan led tto one of the most surprising military
outcomes in the past one thousand years.

81. Which of the following best characterizes the
main point the author is trying to convey in the
passage?
(a) Aztec failure to fight an unconventional war

led to an unnecessary defeat
(b) Spanish ictory as neither as impressive nor

as surprising as it may first appear
(c) Herman Cortes masterminded an amazing

military accomplishment
(d) The myopic vision of the Aztecs led to their

unnecessary downfall
82. The passage is sequentially organized in which

of the folowin ways?
(a) Define a problem; explain the sources of the

problem; offer a solution to the problem
(b) Pose a questioni; offer an answer to the

question; offer an alternative answer to the
question

(c) Introduce a mystery; offer an explanation for
the mystery; provide an alternative
explanation fo rthe mystery

(d) Introduce an enigma; explain the reasons for
the enigma; discuss the inevitability of the
enigma

83. According to the passage, all of the following to
Cortes success except
(a) Advanceed crossbows
(b) Local Spanish alles
(c) Nimble military force
(d) Local tribal friction

84. The author implies which of the followiing about
the nature of Aztec regional influence and
power?
(a) Achieved with a non-traditional military

campaign

(b) Engendered some anger
(c) Archieved through alliances
(d) Based upon small yuet swift and brutal

military force
85. The author's tone can best be described as

(a) Analytical (b) Anger
(c) Frustrated (d) Optimistic

Find the error.
86. (A) He will/ (B)  ring him/ (C) tomorrow/ (D) in

the afternoon.
(a) A (b) B
(c) C (d) D

87. Which of the following sentence has error?

(a) No error

(b) All the information  that you  want

(c) In this book

(d) You can get

88. The Hubble Space telescope will search for
planets around thhe  stars, a key to thhe _____
extra-terrestrial life, and examine interstellar
dust and gases out of which stars are born.

(a) Perception (b) Discovery

(c) Enquiry (d) Quest

89. Order the sentence:-

S
1
 : Hungary, with a population of about 10

millian, lies between Czechoslovakia to the
North and Yugoslavia to thhe South.

P: Here a great deal of grain is grown.

Q: In recent years, hoowever, progress has been
made aiso in the field of industrialisation.

R: Most of this country consists of an extremely
fertile plain, through which the river Danube
flows.

S: In addition  to grain, the plain produces
potatoes, sugar, wine and livestock.

S
6
: The new industries derive mainly from

agricultural production.

(a) RPSQ (b) QRSP

(c) PRSQ (d) RQSP

90. Synonymous of Imminent

(a) Impure (b) Unsteady

(c) Proud (d) Upcoming

Some parts of the sentences in the passage below are
left blank. Fill them with the best alternative.

91-93:According to a survey conducted  in the US, a

Edited with the trial version of 
Foxit Advanced PDF Editor

To remove this notice, visit:
www.foxitsoftware.com/shopping

http://www.foxitsoftware.com/shopping


VI
SI

ON CO
MPE

TI
TI

VE
 A

CA
DE

MY

10

B-1/8A YAMUNA VIHAR DELHI - 110053 Ph : 01140394447, 01143537689

 website : www.visioneduindia.com7840856786, 9958085548  follow us:

'greek dad' is a father who is ______(91) about
technology and knowledgeable about the latest _____
(92) Interestingly, an increasing number of parents,
especially fathers are turning tech savvy to _____ (93)
with their children.

91. (a) Aware (b) Interested

(c) Enthusiastic (d) Well read.

92. (a) Innovations (b) Developments

(c) Gadgets (d) Games

93. (a) Gel (b) Play

(c) Bond (d) Games

94 and 95 : In the following question four alternatives
are given for the idiom/phrase italicised and
underlined in the sentence. Choose the alternative
which best expresses the meaning of the idiom/
phrase.
95. This matter has been hanging fire for the last

many months and must therefore be decided
one way or the other.
(a) die on slowly (b) hotly debated
(c) stuck up (d) ignored

95. In the armed forces, it is considered a great
privilege to die in harness.
(a) die on a horse back
(b) die in the battlefield
(c) die while still working
(d) die with honour

96. Antonymous of Obey
(a) Attract (b) Disobey
(c) Repel (d) Diffuse

97. You can play with these kittens quiet safely
(a) These kittens can played with quiet safely
(b) These kittens can play with you quiet  safely
(c) These kittens can be played  with you quiet

safely
(d) These kittens  can be played with quiet safely

98. Find the wrong spelt word
(a) Passion (b) Fashion
(c) Ration (d) Tution

99. Today Wegener's theory is ____; however, he
died an outside treated with _____ by the
scientific establishment.
(a) unsupported-approval
(b) dismissed-contempt
(c) accepted-approbation
(d) unchallenged-disdain

100. The revolution in art has not lost its steam; it

____ on as fiercely as ever.
(a) trudges (b) meanders
(c) edges (d) rages

SECTION - B
Post Specific Subject-Related Questions

Hkkx & c
iksLV LisflfiQV fo"k; & laca/h iz'u

101. The property of a conducter due to which it

passes current is called

ftl xq.k/eZ ls pkyd ls fo|qr dks Hkstk tkrk gS mls
dgrs gSa

(a) Resistance/izfrjks/

(b) Reluctance/izfr"VEHk

(c) Conductance/pkydRo

(d) Inductance/izsjdrk
102. The resistance of a conductor varies inversely

as

pkyd dk izfrjks/ blds izfrykser% cnyrk gS

(a) length/yEckbZ

(b) area of cross-section/vuqizLFk&dkV dk {ks=k

(c) temperature/rkieku

(d) resistivity/izfrjks/drk
103. With rise in temperature the resistance of pure

metals

rkieku ds c<+us ls ifj'kq¼ /krq dk izfrjks/

(a) increases/c<+rk gS

(b) decreases/de gksrk gS

(c) first increases and then decreases/igys c<rk
gS vkSj ckn esa ?kVrk gS

(d) remains constant/fLFkj jgrk gS
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104. Three resistances of 10 Ohms, 15 Ohms and 30
Ohms are connected in parallel. The total

resistance of the combination is

10 vkse] 15 vkse vkSj 30 vkse ds rhu izfrjks/
lekUrj tksMs x;s gSaA bl la;kstu dk dqy izfrjks/ gS

(a) 5 ohms/5 vkse (b) 10 ohms/10 vkse

(c) 15 ohms/15 vkse (d) 55 ohms/55 vkse
105. An instrument which detects electric current is

known as

tks midj.k fo|qr izokg dk irk yxkrk gS\ mls dgrs gSa

(a) voltmeter/oksYVehVj

(b) rheostat/fj;ksLVWV

(c) wattmeter/oWVehVj

(d) galvanometer/xsYokuksehVj
106. In a circuit a 33 ohm resistor carries a current of

2A. The voltage across the resistor is

,d ifjiFk esa 33 vkse dk izfrjks/d 2A fo|qr <+ksrk
gSA
(a) 33 V (b) 66 V

(c) 80 V (d) 132 V

107. A light bulb draws 300 mA when the voltage
across it is 240 V. The resistance fof the light bulb

is

,d fo|qr cYc tc ml dk oksYVst 240V jgrk gS rc
og 300 mA izkIr djrk gSA ml fo|qr cYc dk
izfrjks/ gS

(a) 400 Ohms/400 vkse

(b) 600 Ohms/600 vkse

(c) 800 Ohms a/800 vkse

(d) 1000 Ohms/1000 vkse
108. A current of 15 amperes divides between two

branches in parallel oof resistance 8 ohms and
12 ohms respectively. The current in each

branches is

Øe'k% 8 vkse vkSj 12 vkseokys izfrjks/ esa 16 ,afi;j
dh fo|qr nks 'kk[kkvksa esa lekarj ck¡Vh tkrh gSA izR;sd
'kk[kk esa fo|qr gS
(a) 6.4 A, 6.9 A (b) 6.4 A, 9.6 A

(c) 4.6 A, 6.9 A (d) 4.6 A, 9.6 A

109. Two resistors are said to be connected in series

when

nks izfrjks/ksa dks J`a[kyk esa tksM+k x;k gS ,slk dgrs gSa]
tc
(a) same current passes in turn through both

nksuksa esa ls ,dgh fo|qr ?kwedj tkrh gS
(b) both carry the same value of current

nksuksa ,d tSls ewY; dh fo|qr gksrs gSa
(c) total current equals the sum of branch

currents/'kk[kkvksa ds fo|qr dk tksM+ dqy fo|qr
ds cjkcj gksrk gS

a (d) sum of IR drops equals the applied e.m.f.

vkbvkj ds ?kVko dk tksM yxk;s x;s b,e,iQ ds
cjkcj gksrk gS

110. Which of the following statements is true both

for a series and a parallel D.C. circuit?

J`a[kyk vkSj lekarj Mh-lh- ifjiFk nksuksa ds fy, fuEu esa
ls dkSu lk dFku lgh gS\

(a) Elements have individual currents/?kVdksa dk
O;fDrRo izokg gksrk gS

(b) Currents are additive/izokg ;ksxkRed gksrs gSa

(c) Voltages are additive/oksYVst ;ksxkRed gksrs gSa

a (d) Powers are additive/fo|qr 'kfDr ;ksxkRed gksrh gS

111. Kirchof's current law states that

fdjpkWiQ dk izokg fl¼kUr dgrk gS
(a) net current flow at the junction is positive

lfU/ LFkku ij okLrfod fo|qr izokg /ukRed
gksrk gS

(b) Hebraic sum of the currents meeting at the

junction is zero/lfU/ LFkku ij feyus okys izokg
dks bczkuh tksM+ 'kwU; gksrk gS

(c) no currents can leave the junction without

some current entering it./lfU/ LFkku esa dqN
izokg izos'k fd, cxSj dksbZ Hkh izokg lfU/ LFkku
NksM ugha ldrk

(d) total sum of currents meeting at the junction

is zero/lfU/ LFkku ij feyus okys izokg dk dqy
tksM+ 'kwU; gksrk gS

112. According to Kirchhoff's voltage law, the
algebraic sum of all IR dropsd and e.m.f.s in any

closed loop of a network is always
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fdjpkWiQ ds oksYVst fl¼kUr ds vuqlkj usVodZ ds dksbZ
Hkh cUn ywi esa lHkh vkbvkj Ugkl vkSj b,e,iQ dk
tksM+ ges'kk gksrk gS

(a) negative/½.kkRed

(b) positive//ukRed

(c) determined by battery e.m.f.s/cSVjh ds b,e,iQ
}kjk fu/kZfjr

a (d) zero/'kwU;

113. Kirchhoff's current law is aplicable to only

fdjpkWiQ fo|qr izokg fu;e dsoy fdlds fy, ykxw
gksrk gS\

(a) junction in a network/usVodZ esa laf/LFkku

(b) closed loops in a network/usVodZ es ca/ ywi

(c) electrick circuits/fo|qr ifjiFk

(d) electronic circuits/bysDVªkWfud ifjiFk

114. Kirchhoff's voltage law is related to

fdjpkWiQ dk oksYVst fl¼kUr blls lEcfU/r gS

(a) junction currents/lfU/ LFkku izokg

(b) battery e.m.f.s/cSVjh ds b,e,iQ

(c) IR drops/vkbvkj Ugkl

(d) both (B) and (C)/(B) vkSj (C) nksuksa
115. For maximum transfer of power, internal

resistance of the source should be

vf/dre fo|qr 'kfDr ds vUrj.k ds fy, Ïksr dk
vkUrfjd izfrjks/ gksuk pkfg,

(a) equal to load resistance/Hkkj ds izfrjks/ ds
cjkcj

(b) less than the load resistance/Hkkj izfrjks/ ls
de

(c) greater than the load resistance/Hkkjr izfrjks/
ls vf/d

(d) none of the above/bues ls dksbZ ugha
116. If the energy is supplied from a source, whose

resistance is 1 Ohm, to a load of 100 Ohms the

source will be

1 vkse izfrjks/okys mn~xe ls ;fn 100 vkseokys Hkkj
dks ÅtkZ eqgÕ;k djkbZ tkrh gS] rks mn~xe gksxk

(a) a voltage source/oksYVst mn~xe

(b) a current source/izokg mn~xe

(c) both of above/Åijh nksuska

(d) none of the above/Åijh dksbZ ugha
117. The circuit whose properties are same in either

direction is known as

nksuksa fn'kkvksa esa ,d tSls xq.k/eZ gksusokys ifjiFk dks
dgrs gSa

(a) unilateral circuit/,drjiQk ifjiFk

(b) bilateral circuit/nqrjiQk ifjiFk

(c) irreversible circuit/vfuoR;Z ifjiFk

(d) reversible circuit/izfroR;Z ifjiFk
118. While calculating Rth in Thevenin's theorem and

Norton equivalent

Fksosfufu ds fl¼kUr vkSj ukWVZu lekud es Rth dk
ifjdyu djrs le;
(a) all independent sources are made dead

lHkh LokoyEch Ïksrksa dks fu"izokfgr fd;k tkrk gS
(b) only current sources are made dead

dsoy fo|qr izokg Ïkrksa dks fu"izokfgr fd;k tkrk gS

(c) only voltage sources are made deada

dsoy oksYVst Ïksrksa dks fu"izokfgr fd;k tkrk gS
(d) all voltage and current sources are made

dead/lHkh oksUVst vkSj fo|qr izokg Ïkrksa dks
fu"izokfgr fd;k tkrk gS

119. The number of independent equations to solve

a network is equal to

usVodZ dks gy djus ds fy, LokoyEch lehdj.kks dh
la[;k blds cjkcj gksrh gS

(a) the number of chords/dkWMZ dh la[;k

(b) the number of branches/'kk[kkvksa dh la[;k
(c) sum of the number of branches and chords

'kk[kkvksa vkSj dkWMZ dh la[;kvksa dk tksM
(d) sum of number of branches, chords and

nodes/'kk[kkvksa] dkWMZ vkSj uksM dh la[;kvksa dk
tksM

120. The superposition theorem requires as many

circuits to be solved as there are

vf/LFkkiu (lqijiksft'ku) fl¼kUr esa mrus gh ifjiFkksa
dks gy djuk gS ftrus gksrs gSa
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(a) sources, nodes and meshes/Ïksr] uksM(fuLiUn)
vkSj tkyjU/z(es'k)

(b) sources and nodes/Ïksr vkSj fuLiUn

(c) souces/Ïksr

(d) nodes/fuLiUn

121 Laminations of core are generally made of

ØksM(dksj) dh ijrcUnh (ysfeus'ku) lkekU;r% blls
gksrh gS

(a) case iron/vkoj.k yksg

(b) carbon/dkcZu

(c) silicon steel/flfydkWu  blikr

(d) stainless steel/taxjks/h blikr
122. Which of the following could be lamina-

proximately the thickness of laminations of a

D.C. machine?

Mh-lh- e'khu ds ysfeus'ku ds fy, fuEu esa ls dkSUlh
yxHkx iVyh eksVkbZ gks ldrh gS\
(a) 0.005 mm (b) 0.05 mm

(c) 0.5 m (d) 5 m

123. The bearings used to support the rotor shafts

are generally

jksVj 'kkÝV dks lgkjk nsusokyk csvfjax lkekU;r% gksrk gS

(a) ball bearings/ckWy csvfjax

(b) bush bearings/cq'k csvfjax

(c) magnetic bearings/pqacdh; csvfjax

(d) needle bearings/uhMy csvfjax
124. In D.C. generators, the cause of rapid brush wear

may be

Mh-lh- tujsVj esa cz'k ds tYnh [kjkc gksus ds dkj.k gks
ldrk gS

(a) severe sparking/rhoz Likjfdax

(b) rough commulater surface/mcM +[ k kcM +
fnDifjorZd lrg

(c) imperfect contact/lanks"k la;ksx

a (d) any of the above/Åijh dksbZ Hkh

125. In lap winding, the number of brushes is always

ySi okbafMax esa cz'kksa dh la[;k ges'kk gksrh gS

(a) double the number of poles/iksy ds la[;k ds
nqxquh

(b) same as the number of poles/iksy ds la[;k
ds bruh gh

(c) half the number of poles/iksy ds la[;k ls
vk/h

(d) two/nks
126. For a D.C. generator when the number of poles

and the number of armature conductors is fixed,

then which winding will give the higher e.m.f.?

Mh-lh- tujsVj ds fy, tc iksy vkSj vkesZpj pkydksa
dh la[;k fuf'pr gksrh gS] rc dkSulh ckbafMax vf/d
b,iQ,iQ gksxh\

(a) Lap winding/ySi okbfMax

(b) Wave winding/csookbafMax

(c) Both (A) and (B)/(A) vkSj (B) nksuksa

(d) Depends on other features of design/fMtkbu
dh fo'ksrk ij fuHkZj gksrh gS

127. In a four-pole D.C. machine

pkj&iksy okys Mh-lh- e'khu esa

(a) all the four poles are North poles/lHkh pkjksa
gh iksy gksrs gSa mÙkj /qzoh;

(b) alternate poles  are North and South/ckjh ckjh
ls iksy mÙkj vkSj nf{k.k gksrs gSa

(c) all the four poles are South poles/lHkh pkjksa
gh iksy nf{k.k /qzoh; gksrs gSa

(d) two North poles follow two South poles/nks
nf{k.kh iksy ds ckn nks mÙkjh iksy gksrs gSa

128. Copper brushes in D.C. machine are used

Mh-lh- e'khu esa rkacs ds cz'k dk mi;ksx gksrk gS
(a) where low voltage and high currents are

involed/tgk¡ fuEu oksYVst vkSj mPp izokg gksrk gS
(b) where high voltage and small currens are

involved/tgk¡ mPp oksYVst vkSj fuEUk izokg gksrk gS

(c) in both of the above cases/Åijh nksuksa mnkgj.kksa
esa

(d) in none of the above cases/Åijh dksbZ Hkh
mnkgj.k esa ugha

129. A separately excited generator as compared to

a self-excited generator

Lo;a míhfir tujsVj ls vyx ls míhfir tujsVj
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(a) is amenable to better voltage control/csgrj
oksYVst fu;a=k.k ds fy, ftEesokj gS

(b) is more stable/vf/d fLFkj gS
(c) has exciting current independent of load

current/Hkkj fo|qr izokg ls LorU=k míhfir fo|qr
izokg gksrk gS

(d) has all above features/esa Åijh lHkh fo'ks"krk,¡
gksrh gS

130. Iron loasses in a D.C. machine are independent

of variations in

Mh-lh- e'khu esa yksg dh {kfr blds cnyko ij fuHkZj
ugha gksrh

(a) speed/xfr

(b) load/Hkkj

(c) voltage/oksYVst

(d) speed and voltage/xfr vkSj oksYVst
131. In D.C. generators, current to the external circuit

from armature is given through

Mh-lh- tujsVj esa ckgjh ifjiFk dks vkesZpj ls fo|qr
izokg blds }kjk fn;k tkrk gS

(a) commutator/fnDifjorZd

(b) solid connection/Bksl la;kstd

(c) slip rings/Lyhi fjax

(d) none of the above/Åijh dksbZ ugha

132. Brushes of D.C. machines are made of

Mh-lh- e'khu ds cz'k blls curs gSa

(a) carbon/dkcZu

(b) soft copper/eǹq rkack

(c) hard copper/dfBu rkack

(d) all of the above/Åijh lHkh
133. If B is the flux density. l the length of conductor

and v the velocity of conductor, then induced

e.m.f. is given by

;fn ;g izokg (ÝyDl) ?kuRo gS] ;g okgd dh
yEckbZ gS vkSj v ;g okgd dk osx gS] rks izsfjr
b,e,iQ bl izdkj fn;k tkrk gS
(a) Blv (b) Blv/2

(c) BL/2v (d) 2B/lv

134. The material for commutator brushes is

generally

fnDifjorZd cz'k lkekU;r% blls curs gSa

(a) mica/vHkzd (b) copper/rkack

(c) cast iron/<Yck¡ yksgk (d) carbon/dkcZu
135. The insulting material used between the

commutator segments is normally

fnDifjorZu [k.Mksa ds chp esa mi;ksx fd;k x;k fo|qr&jks/
h nzO; lkekU;r% gksrk gS

(a) graphite/xzsiQkbV (b) paper/isij

(c) mica/vHkzd (d) insulating varnish/

jks/d okfuZ'k

136. Welding generator will have

osfYMax tujsVj es alkekU;r% gksrk gS

(a) lap winding/ySi okbfMax

(b) wave winding/oso okbafMax

(c) delta winding/MsYVk okbafMax

(d) duplex wave winding/MqIysDl oso okbafMax
137. In case of D.C. machine winding, number of

commutator segments

Mh-lh- e'khu okbafMax esa fndifjorZd [k.Mksa dh la[;k
bruh gksrh gS ftruh

(a) number of armature coils/vkesZpj dkby dh
la[;k

(b) number of armature coil sides/vkesZpj dkby
lkbM dh la[;k

(c) number of armature conductors/vkes Zpj
pkyd dh la[;k

(d) number of armature turns/vkesZpj VuZ dh la[;k
138. For a D.C. machines laboratory following type

of D.C.  supply will be

Mh-lh- e'khu iz;ksx'kkyk ds fy, fuEu izdkj dh Mh-
lh- vkiwfrZ gksxh

(a) rotary converter/vkorhZ ifjofrZr

(b) mercury arc rectifier/eD;qZfj vkdZ jsDVhiQk;j

(c) induction motor D.C. generator set/bUMD'ku
eksVj Mh-lh- tujsVj lsV

(d) synchronous motor D.C. generator set/

ledkfyd eksVj Mh-lh- tujsVj lsV
139. The function of pole shoes in the case of D.C.
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machine is

Mh-lh- e'khu esa iksy 'kw dk dk;Z gS
(a) to reduce the reductance of the magnetic

path/paqcdh; iFk esa izfr"VEHk de djuk
(b) to spread out the flux to achieve uniform fux

density/,dleku izokg ?kuRo ikus ds fy, izokg
dks fc[ksjuk

(c) to support the field coil/{ks=k dq.My dks lgkjk
nsuk

(d) to discharge all the above functions/Åijh lHkh
dk;Z djus ds fy,

140. In the case of lap winding resultant pitch is

ySc okbafMax esa ifj.kkeh pwMh varjky gksrk gS
(a) multiplication of front and back pitches

lkeus vkSj fiNys pwMhvarjky dk  xq.ku
(b) division of front pitch by back pitch

lkeus ds pwMhvarjky dks fiNys pwMhvarjky ls
foHkkftr djuk

(c) sum of front and back pitches

lkeus vkSj fiNys pwMhvarjky dk tksM
(d) difference of front and back pitches

lkeus vkSj fiNys pwMhvarjky dk vUrj
141. In a D.C. generator the critical resistance can be

increased by

Mh-lh- tujsVj esa ladVdkyhu izfrjks/ blizdkj c<k;k
tk ldrk gS

(a) increasing its field resistance/mldk {ks=k izfrjks/
c<+kdj

(b) decreasing its field resistance/mldk {ks=k
izfrjks/ ?kVkdj

(c) increasing its speed/mldh xfr c<kdj

(d) decreasing its speed/mldh xfr ?kVkkdj
142. The number of armature parallel paths in a two-

pole D.C. generator having duplex lap winding

is

MqIysDl ySc okbafMax okys f}&/qzoh; Mh-lh- tujsVj esa
vkesZpj ds lekarj iFk dh la[;k gksrh gS
(a) 2 (b) 4

(c) 6 (d) 8

143. For both lap and wave windings, there are as

many commutator bars as the number of

ySi vkSj osc okbafMax nksuksa ds fy, fnDifjorZu ckj dh
la[;k bldh la[;k ds cjkcj gksrh gS

(a) slots/[kk¡pk

(b) armature conductors/vkesZpj

(c) winding elements/okbfMax ?kVd

(d) poles//qzo
144. The series field of a short-shunt D.C. generator

is excited by

'kkWVZ 'kaV Mh-lh- tujsVj ds J`a[kyk {ks=k dks blls
míhfir fd;k tkrk gS

(a) external current/ckgjh fo|qr izokg

(b) armature current/vkesZpj fo|qr izokg

(c) shunt current/'kaV djUV

(d) load current/Hkkj fo|qr izokg
145. As a rusult of armature reaction, the reduction

in the total mutual air gap flux in a D.C. generator

is approximately

Mh-lh- tujsVj esa vkesZpj izfrfØ;k ds ifj.kke ls dqy
ijLij ok;q xSl izokg yxHkx gksrk gS

(a) 40 percent/40 izfr'kr

(b) 25 percent/25 izfr'kr

(c) 10 percent/10 izfr'kr

(d) 5 percent/5 izfr'kr
146. No-load speed of which of the following motor

will be highest?

fuEu esa ls fdl eksVj dh Hkkj&jfgr xfr vf/dre
gksxh\

(a) Shunt motor/'kaV eksVj

(b) Series motor/J`a[kyk eksVj

(c) Cumulative ocmpound motor/lap;h la;qDr
eksVj

(d) Differential compound motor/fHkÂd la;qDr
eksVj

147. The direction of rotation of a D.C. series motor

can be changed by

Mh-lh- J`a[kyk eksVj ds vkorZu dh fn'kk dks bl izdkj
cnyk tkrk gS

(a) interchanging supply terminals/vkiwfrZ fljs dk
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cnyk&cnyh dj

(b) interchanging field terminals/{k s=k fljs dh
vnyk&cnyh dj

(c) Both (A) and (B)/(A) vkSj (B) nksuksa

(d) None of the above/Åijh dksbZ ugha
148. Which of the following application requires high

starting torque?

fuEu esa ls fdl fØ;k esa mPp izkjfEHkd ,saBu dh
t#jr gS\

(a) Lathe machine/[kjkn (ysFk) e'khu

(b) Centrifugal pump/vidsUnzh iEi

(c) Locomotive/batu

(d) Air blower/ok;q /kSaduh
149. In a D.C. motor is to be selected for conveyors,

which motor would be preferred?

;fn okgd ds fy, Mh-lh- eksVj dk p;u djuk gS] rks
dkSulk eksVj ojh; gksxk\

(a) Series motor/J`a[kyk eksVj

(b) Shunt motor/'kaV eksVj

(c) Differential compound motor/fHkÂd la;qDr
eksVj

(d) Cumulative compound motor/lap;h la;qDr
eksVj

150. Which D.C. motor will be preferred for machine

tools?

e'khu Vwy ds fy, dkSulk eksVj ojh; gS\

(a) Series motor/J`a[kyk eksVj

(b) Shunt motor/'kaV eksVj

(c) Differential compound motor/fHkÂd la;qDr
eksVj

(d) Cumulative compound motor/lap;h la;qDr
eksVj

151. Differential compound D.C. motors can find

applications requiring

fHkÂd la;qDr Mh-lh- eksVj esa blds ;ksX; dk;Z gksrs gSa

(a) high starting torque/mPp vkjfEHkd ,saBu

(b) low starting torque/fuEu vkjfEHkd ,sBu

(c) variable speed/ifjorhZ xfr

(d) frequent on-off cycles/fujUrj vkWu&vkWiQ pØ

152. Which D.C. motor is preferred for elevators?

bysosVj ds fy, dkSulk Mh-lh- eksVj djhc gS\

(a) Shunt motor/'kaV eksVj

(b) Series motor/J`a[kyk eksVj

(c) Different compound motor/fHkÂd la;qDr eksVj

(d) Cumulative compound motor/lap;h la;qDr
eksVj

153. As the load is increased the speed of D.C. shunt

motor will

tSls tSls Hkkj c<+rk gS] Mh-lh- 'kaV eksVj dh xfr

(a) reduce slightly/FkksMh de gksxh

(b) increase slightly/FkksMh c<sxh

(c) increase proportionately/;Fkkuqikr c<sxh

(d) remains unchanged/esa dksbZ cnyko ugha vk;sxk
154. The armature torque of the D.C. shunt motor is

proportional to

Mh-lh- 'kaV eksVj dh vkesZpj ,saBu blls ;Fkkuqikrh
gksrh gS

(a) field flux only/dsoy {ks=k izokg

(b) armature current only/dsoy vkesZpj izokg

(c) both (A) and (B)/(A) vkSj (B) nksuksa

(d) none of the above/Åijh dksbZ ugha
155. Which of the following methods of speed control

of D.C. machine will offer minimum efficiency?

fuEu esa ls Mh-lh- e'khu dh xfr fu;a=k.k] dh dkSulh
i¼fr vf/dre {kerk iznku djrh gS\

(a) Voltage control method/oksYVst fu;a=k.k i¼fr

(b) Field control method/{ks=k fu;a=k.k i¼fr

(c) Armatre control method/vkesZpj fu;a=k.k i¼fr

(d) All the above methods/Åijh lHkh i¼fr
156. Which one of the following is not necessarily the

advantage of D.C. motors over A.C. motors?

,-lh- eksVj dh rqyuk esa fuEu esa ls dkSulk Mh-lh-
eksVj dk t#jr iQk;nk ugha gS\

(a) Low cost/de ykxr

(b) Wide speed range/foLr`r xfr lhek

(c) Stability/fLFkjrk
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(d) High starting torque/mPp izkjfEHkd ,saBu
157. For a D.C. shunt motor if the excitation is

changed

Mh-lh- 'kaV eksVj dk ;fn míhiu cnyk tkrk gS] rks

(a) torque will remain constant/,saBu fLFkj jgsxh
(b) torque will change but power will remain

constant/,saBu cny tk;sxh ysfdu fo|qr 'kfDr
fLFkj jgsxh

(c) torque and power both will change/,saBu vkSj
fo|qr 'kfDr nksuksa esa cnykc vk;sxk

(d) torque, power and speed, all will change/

,saBu] fo|qr 'kfDr vkSj xfr lHkh esa cnyko vk;sxk

158. Which motor has the poorest speed control?

fdl eksVj dk xfr fu;a=k.k vR;ar [kjkc gS\

(a) Differentially compounded motor/fH kÂd
la;qDr eksVj

(b) Cumulatively compounded motor/lap;h
la;qDr eksVj

(c) Shunt motor/'kaV eksVj

(d) Series motor/J`a[kyk eksVj

159. The plugging gives the

IyfXxx nsrk gS

(a) zero torque braking/'kwU; ,saBu jksd

(b) smallest torque braking/fuEure ,saBu jksd

(c) highest torque braking/vf/dre ,saBu jksd

(d) none of the above/Åijh dksbZ ugha
160. Which of the following motors one will chose to

drive the rotary compressor?

jksVjh daizslj dks pykus ds fy, fuEu esa ls dkSulk
eksVj pquk tk;sxk\

(a) D.C. shunt motor/Mh-lh- 'kaV eksVj

(b) D.C. series motor/Mh-lh- J`[kyk eksVj

(c) Univesal motor/lkekU; eksVj

(d) Synchronous motor/ledkfyd eksVj
161. If the speed of a D.C. shunt motor is increased,

the back e.m.f. of the motor will

;fn Mh-lh- 'kaV eksVj dh xfr c<+kbZ tkrh gS] rks eksVj
dk cSd (i'p) b,e,iQ

(a) increase/c<+sxk

(b) decrease/?kVsxk

(c) remain same/ogh jgsxk

(d) become zero/'kwU; gksxk
162. Which of the following motors is most suitable

for signalling devices and many kinds of timers?

fuEu esa ls dkSulk eksVj fLizfyax lk/uksa ds fy, vkSj
dbZ izdkj ds Vkbejksa ds fy, mi;qDr gS\

(a) D.C. shunt motor/Mh-lh- 'kaV eksVj

(b) D.C. series motor/Mh-lh- J`a[kyk eksVj

(c) Induction motor/izsj.k eskVj

(d) Reluctance motor/izfr"VEHk eksVj

163. Which motor should not be started on no-load?

Hkkj&jfgr (uks&yksM) fLFkfr esa dkSulk eksVj vkjEHk
djuk ugha pkfg,\

(a) Series motor/J`a[kyk eksVj

(b) Shunt motor/'kaV eksVj

(c) Cumulatively compounded/lap;h la;qDr eksVj

(d) Differentially compounded motor/fH kÂd
la;qDr eksVj

164. Ward-Leonard control is basically a

oMZ&jfgr (uks&yksM) fLFkfr esa dkSUklk eksVj vkjEHk
djuk ugha pkfg,\

(a) voltage control method/oksYVst fu;a=k.k rjhdk

(b) field divertor method/{ks=k fnDifjorZd rjhdk

(c) field control method/{ks=k fu;a=k.k rjhdk

(d) armature resistance control method/vkesZpj
izfrjks/ fu;a=k.k rjhdk

165. For constant torque drive which speed control

method is preferred?

fLFkj ,saBu pkyu ds fy, dkSulk xfr fu;a=k.k rjhdk
ojh; gS\

(a) Field control/{ks=k fu;a=k.k

(b) Armature voltage control/vkesZpj oksYVst fu;a=k.k

(c) Shunt armature control/'kaV vkesZpj fu;a=k.k

(d) Mechanical loading system/e'khuh Hkj.k i¼fr
166. In a D.C. generator all of the following could be

the effects of iron losses except
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Mh-lh- tujsVj esa fuEu esa ls lHkh yksg {kfr ds dkj.k
gks ldrk gS] flok;

(a) Loss of efficiency/{kerk dh deh

(b) Excessive heating of core/ØksM dk vR;f/d
m".k gksuk

(c) Increase in terminal voltage/fljs ds oksYVst esa
c<+ko

(d) Rise in temperature of ventilating air/laokrh
ok;q ds rkieku esa c<+ko

167. The losses occurring in a D.C. generator are given
below. Which loss is likely to have highest

proportion at rated load of the generator?

Mh-lh- tujsVj esa gksusokyh {kfr;k¡ uhps nh xbZ gSA
dkSulh {kfr tujsVj ds vuqikr Hkkj ij vR;f/d va'k
gksus dh laHkkouk gS\

(a) hysteresis loss/eank;u {kfr

(b) field copper loss/{ks=k rkack {kfr

(c) armature copper loss/vkesZpj rkack {kfr

(d) eddy current loss/,M~Mh izHkko {kfr
168. Which of the following loss in a D.C. generator

varies significantly with the load current?

Mh-lh- tujsVj esa Hkkj fo|qr izokg ds lkHk fuEUk esa ls
dkSu ls {kfr esa egRoiw.kZ cnyko vkrk gS\

(a) Field copper loss/{ks=k rkack {kfr

(b) Windage loss/foUMst (xaaqtkb'k) {kfr

(c) Armature copper loss/vkesZpj rkack {kfr

(d) None of the above/Åijh dksbZ ugha
169. Which of the following does not change in a

transformer?

VªkUliQkeZj esa fuEu esa ls D;k ifjofrZr ugha gksrk\

(a) Current/izokg

(b) Voltage/oksUVst

(c) Frequency/vko`fÙk

(d) All of the above/Åijh lHkh
170. In a transformer the energy is conveyed from

primary to secondary

VªkUliQkWeZj esa izkFkfed ls f}rh;d rd ÅtkZ ogu gksrh gS

(a) through cooling coil/'khryu dq.My ds }kjk

(b) through air/ok;q ds }kjk

(c) by the flux/izokg ds }kjk

(d) none of the above/Åijh dksbZ ugha

171. A transormer core is laminated to

VªkUliQkWeZj dk ØksM blds fy, ijrcUn fd;k tkrk gS

(a) reduce hysteresis loss/eank;u {kfr dks de djuk

(b) reduce eddy current losses/,M~Mh djUV {kfr
dks de djuk

(c) reduce copper losses/rkack {kfr dks de djuk

(d) all of the above/Åijh lHkh {kfr;k¡ de djuk
172. The degree of mechanical  vibrations produced

by the laminations of a transformer depends on

VªkUliQkeZj ds ijrcUnh ls mRiÂ gkssusokyh dEiu dh
ek=kk bl ij fuHkZj gksrh gS

(a) tightness of clamping/dlus dk dM+kiu

(b) gauge of laminations/ijrcUnh dk ifjek.k

(c) size of laminations/ijrcUnh dk vkdkj

(d) all of the above/Åijh lHkh

173. Star/star transformers work satisfactorily when

LVkj@LVkj VªkUliQkWeZj lgh rjg ls dke djrk gS tc

(a) load is unbalanced only/dsoy Hkkj vlarqfyr
gksrk gS

(b) load is balanced only/dsoy Hkkj larqfyr gksrk
gS

(c) on balanced as well as unbalanced loads/

larqfyr vkSj vlarqfyr Hkkj ds gkus ls

(d) none of the above/Åijh dksbZ ugha

174. Delta/star transformer works satisfactorily when

MsYVk@LVkj VªkUliQkWeZj lgh rjg ls dke djrk gS tc

(a) load is balanced only/dsoy Hkkj larqfyr gksrk
gS

(b) load is unbalanced only/dsoy Hkkj vlarqfyr
gksrk gS

(c) on balaned as well as unbalanced loads/

larqfyr vkSj vlarqfyr Hkkj ds gksus ls

(d) none of the above/Åijh dksbZ ugha
175. The maximum efficiency of a distribution

transformer is

forj.k VªkUliQkWeZj dh vf/dre {kerk gksrh gS
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(a) at no load/Hkkj&jfgr fLFkfr esa

(b) at 50% full load/50% iw.kZ Hkkj fLFkfr esa

(c) at 80% full load/80% iw.kZ Hkkj fLFkfr esa

(d) at full load/iw.kZ Hkkj esa

176. Transformer breaths in when

VªkUliQkWeZj iQqliQqlkrk gS tc
(a) load on it increase

ml ij Hkkj c<+rk gS
(b) load on it decrease

ml ij Hkkj de gksrk gS
(c) load remains constant

ml ij Hkkj fLFkj jgrk gS
(d) none of the above

Åijh dksbZ ugha

177. No-load current of a transformer

VªkUliQkWeZj ds Hkkj&jfgr izokg esa gksrk gS
(a) has high magnitude and low power factor

mPp ifjek.k vkSj fuEu fo|`r 'kfDr ?kVd
(b) has high magnitude and high power factor

mPp ifjek.k vkSj mPp fo|`r 'kfDr ?kVd
(c) has small magnitude and high power factor

fuEu ifjek.k vkSj mPp fo|`r 'kfDr ?kVd
(d) has small magnitude and low power factor

fuEu ifjek.k vkSj fuEu fo|`r 'kfDr ?kVd
178. The purpose of providing iron core in a step-up

transformer is

LVsi vi VªkUliQkWeZj esa yksg ØksM eqgÕ;k djkus dk
mís'; gS
(a) to provide coupling between primary and

secondary/izkFkfed vkSj f}rh;d ds chp la;kstu
eqgÕ;k djkuk

(b) to increase the magnitude of mutual flux/

ijLij izokg dk ifjek.k c<+kuk
(c) to increase the magnitude of mag-netizing

current/pqacdh; izokg dk ifjek.k ?kVkuk

(d) to provide all above features/Åijh lHkh
fo'ks"krk,¡ eqgÕ;k djkuk

179. The power transformer is a constant

fo|qr&'kfDr VªkUliQkWeZj gksrk gS fLFkj

(a) voltage device/oksYVst lk/u

(b) current device/fo|qr izokg lk/u

(c) power device/fo|qr 'kfDr lk/u

(d) main flux device/eq[; izokg lk/u
180. Two transformers operating in parallel will share

the load depending upon their

nks VªkUliQkWeZj tks lekukarj dke djrs gq, Hkkj dks
bldh fuHkZjrk ij ck¡Vsaxs

(a) leakage reactance/fjlko izfr?kkr

(b) per unit impedance/izfr bdkbZ vklUurk

(c) efficiencies/{kerk,¡

(d) ratings/njtk
181. Which winding of the transformer has less cross-

sectional area?

VªkUliQkWeZj tks lekukarj dke djrs gq, Hkkj dks bldh
fuHkZjrk ij ck¡Vsaxsa

(a) Primary winding/izkFkfed okbafMax

(b) Secondary winding/f}rh;d okbafMax

(c) Low voltage winding/fuEUk oksUVst okbafMax

(d) High voltage winding/mPp oksYVst okbafMax
182. Power transformers are generally designed to

have maximum efficiency around

fo|qr 'kfDr tujsVj dks lkekU;r% bl izdkj cuk;k
tkrk gS fd mldh blds lehi {kerk vf/dre gksrh
gS

(a) no-load/Hkkj jfgr

(b) half-load/vk/k Hkkj

(c) near full-load/laiw.kZ Hkkj ds djhc

(d) 10% overload/10% vf/d Hkkj
183. Which of the following is the main advantage of

an auto-transformer over a two winding

transformer?

f}&okbafMax VªkUliQkWeZj ds Åij Lo&VªkUliQkWeZj dk fuEu
esa ls dkSulk iQk;nk gS\

(a) Hysteresis losses are reduced/eank;u {kfr
U;wure gksrh gS

(b) Saving in winding material/okbafMax nzO; esa cpr
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(c) Copper losses are neglible/rkack {kfr ux.;
gksrh gS

(d) Eddy losses are totally/,M~Mh {kfr iw.kZr% nwj
dh tkrh gS

184. When a given transformer is run at its rated

voltgae but reduced frequency, its

;fn ,d VªkUliQkeZj dks mlds vuqikrh oksYVst ij
ysfdu de vkorZrk ls pyk;k tkrk gS} rc mlds

(a) flux density remains unaffected/izokg l?kurk
ij dksbZ izHkko ugha iMrk

(b) iron losses are reduced/yksg {kfr esa deh vkrh
gS

(c) core flux density is reduced/ØksM izokg l?kurk
de gksrh gS

(d) core flux density is increased/ØksM izokg l?kurk
vf/d gksrh gS

185. In an actual transformer the iron loss remains
practically constant from noload to fulload

because

,d okLrfod VªkUliQkWezj esa Hkkj&jfgr fLFkfr ls laiw.kZ
Hkkj fLFkfr rd yksg {kfr okLro esa fLFkj jgrh gS
D;ksafd
(a) value of transformation ratio remains

constant/ifj.keu vuqikr ewY; fLFkj jgrk gS
(b) permeability of transformer core remains

constant/VªkUliQkWeZj ds ØksM dh ikjxE;rk fLFkj
jgrh gS

(c) core flux remains practically constant/ØksM
izHkko okLro esa fLFkj jgrk gS

(d) primary voltage remains constant/izkFkfed
oksYVst fLFkj jgrk gS

186. An ideal transformer will have maximum

efficiency at a load such that

,d vkn'kZ VªkUliQkWeZj dh {kerk bl Hkkj ij vf/dre
gksxh rc

(a) copper loss = iron loss/rkack {kfr = yskg {kfr

(b) copper loss < iron loss/rkack {kfr < yskg {kfr

(c) copper loss > iron loss/rkack {kfr > yskg {kfr

(d) none of the above/Åijh dksbZ ugha
187. If the supply frequency to the transfomrer is

increased is increased, the iron loss will

;fn VªkUliQkWeZj vkiwfrZ vko`f©Ùk c<kbZ tkrh gS

(a) not change/ifjorZu ugha gksxk

(b) decrease/deh vk;sxh

(c) increase/c<+r vk;sxh

(d) any of the above/Åijh dksbZ Hkh
188. Negative voltage regulation is indicative that the

load is

½.kkRed oksYVst fofue;u n'kkZrk gS fd Hkkj

(a) capacitive only/dsoy /kfjrk (dsisflfVo)

(b) inductive only/dsoy izsjf.kd

(c) inductive or resistive/izsjf.kd ;k izfrjks/h

(d) none of the above/Åijh dksbZ ugha

189. Iron loss of a transformer can be measured by

VªkUliQkWeZj dh yksg {kfr blls ekih tk ldrh gS

(a) low power factor wattmeter/fuEu ikoj iQWDVj
okWVehVj

(b) unity power factor wattmeter/;qfuVh ikoj
iQWDVj okWVehVj

(c) frequency meter/fÚDosalh ehVj

(d) any type of the above/fdlh izdkj dk okWVehVj
190. The transformer laminations are insulated from

each other by

VªkUliQkWeZj dh ijrcUnh ,d nwljs ls blds }kjk fo|qr&jks/
h cukbZ tkrh gS

(a) mica strip/vHkzd dh /kjh

(b) thin coat of varnish/okfuZ'k dh iryh ijr

(c) paper/dkxt

(d) any of the above/Åijh dksbZ Hkh
191. Normally, which of the following is used, when

a large-scale conversion from A.C. to D.C. power

is required?

tc lkekU;r% ,-lh- ls Mh-lh- dk :ikUrj.k cM+h ek=kk
esa djuk gksrk gS rc fuEu esa ls fdldk mi;ksx fd;k
tkrk gS\

(a) Motor-generator set/eksVj tujsVj lsV

(b) Motor converter/eksVj duoVZj

(c) Rotary converter/jksVjh duoVZj
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(d) Mercury arc rectifier/eD;qZjh vkdZ jsDVhiQk;j
192. A rotary converter in general construction and

design, is more or less like

vkorhZ ifjofrZr ;g lkekU; lajpuk vkSj cukoV esa
yxHkx blds tSlk gksrk gS

(a) a transformer/VªkUliQkWeZj

(b) an induction motor/baMD'ku eksVj

(c) an alternator/vyVjusVj

(d) any D.C. machine/Mh-lh- e'khu

193. A rotary converter operates at a

vkorhZ ifjofrZr bl ij pyrk gS

(a) low power factor/fuEu fo|qr 'kfDr ?kVd

(b) high power factor/mPp fo|qr 'kfDr ?kVd

(c) zero power factor/'kwU; fo|qr 'kfDr ?kVd

(d) none of the above/Åijh dksbZ ugha
194. In which of the following equipment direct

current is needed?

fuEu esa ls fdl midj.k esa lh/s izokg dh vko';drk
gksrh gS\

(a) Telephones/VsyhiQksu

(b) Relays/izlkj.k

(c) Time switches/Vkbe Lihp

(d) All of the above/Åijh lHkh
195. In a rotary converter 12R losses as compared to

a D.C. generator of the same size will be

,d gh ifjek.k ds Mh-lh- tujsVj dh rqyuk esa vkorhZ
ifjofrZr esa 12R {kfr gksxh

(a) same/,d tSlh (b) less/de

(c) double/nqxquh (d) three times/frxquh
196. In a mercury arc rectifier positive ions are

attracted towards

eD;qZfj vkdZ jsDVhiQk;j esa /ukRed vk;u bl rjg
vkdf"kZr gksrs gSa

(a) anode/,uksM

(b) cathode/dsFkksM

(c) shell bottom/'ksy ckWVe

(d) mercury pool/eD;Zqfj iwy
197. By which of the following systems electric power

may be transmitted?

fuEu esa ls fdl i¼fr ls fo|qr 'fkDr dks LFkkukarfjr
fd;k tk ldrk gS\

(a) Overhead system/O;kseLFk i¼fr

(b) Underground system/Hkwfexr i¼fr

(c) Both (A) and (B)/(A) vkSj (B) nksuksa

(d) None of the above/Åijh dksbZ ugha
198. The underground system cannot be operated

above

Hkwfexr i¼fr blds Åij dke ugh djrh
(a) 440 V (b) 11 kV

(c) 33 kV (d) 66 kV

199. Overhead system can be designed for operation

up to

O;kseLFk i¼fr bl ek=kk rd cukbZ tk ldrh gS
(a) 11 kV (b) 33 kV

(c) 66 kV (d) 400 kV

200. Which of the following materials is not used for
transmission and distribution of electrical

power?

fo|qr 'kfDr ds LFkkukarj.k vkSj forj.k ds fy, fuEu esa
ls dkSuls nzO; dk mi;ksx ugha gksrk gS\

(a) Copper/rkack

(b) Aluminium/,Y;qfefu;e

(c) Steel/bLikr

(d) Tungsten/VaxLVu
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